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Solve the following quadratic equations:

1. x*-x-2 =0

2. x*-4x-3 = 0

3. 2x*-x = 1
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5 000 000
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Calling seat numbers 30-59.

In the 60s

In the '60s

Phone 09-537 0891



8.93

0.7

Is the number in the range 2-5.57
.8 is a decimal fraction.
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2.3. 2t

28-5-2001
o280

200115728
2001528

28/5-31/5
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6-7 a.m.

6:15-7:45

25. M=

1st

2nd or 2d

3rd or 3d

4th

1er
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Read parts |, Il and V.

Answer questions i, vi and x.
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7k} @9 o] wojr] o Bt

s
= Aol A Hoj27]E e Zo] FHh)
Where should | write the dollar sign, US$ or $US?
30 cents can be written as $0 30 30c or 30¢.
In South Africa, this would cost R13.51.

Before decimalisation, £1.75 was £1 15s so half of it was 17s 6d or 17/6.

Is the speed limit 30 mph or 50 km/h?
Water freezes at 0°C or 32°F.
To decrease by 15% multlply by 0. 85
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One complete orbit lasts 2yr 5m 15d 7h 17min and 45s.

A 6 V battery will cause a current of 3 A to flow through a resistance of 2 Q.

The reading was 15 mHz.

The pattern says k4 p1 sl1 k1 psso
A |

LA =90,000 "
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H 7| 2(FA A= E8o2 #7))

FHFE, <

rlt

(group theory), =glolA A&3t= A4 715 g vlal 7|50 disA =

3.1. Ol

ofgf ] oA tiFEELS A4t 715 UF e Hojrr]E SHA] EAIR vl 7|E= H
2715 ok ol A= dA F e Aggd SEAE sl Hoxr|E FUkeE Aol
o} "Hojxr] A FH(1.1.2)& &t

3r5-8

8-5-3

o =33=15

2 cme 4 cm =6 cm

20095 = Tkg -~

>-72 m=10 = 57.2 cm

15205

Area = bh = 5.3 = 15(8% = bh =53 =15
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3.9x 41~16

5-3%3-5

A scale of 1:200

2:4=06:12

3.2. U= CilXl

ot o] th dAAAE 1204 HF o2 ofd AU} ‘ZHHOoE ARRTE wint
O 15 AAEE AT O%A dod AR ¢s F Utk AT oA FE
7125 cc AR ¢e F U

If y « x then y = kx
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drab=ac
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The ratio X'y
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interest-rate—inflation-rate

The temperature was 15-17.

Graduate the x axis -4 to +5.
(ﬂrXMl/\ = ﬁﬂi/\/ﬂ}O]Lﬂ/\ 7]@7} ZOLoﬂ %;‘q)

Evaluate 271 3
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1 2
12 36
+34 +952
3 4
63 154
+19 +76
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Smith wrote a paper® which says...

The formula for water is H,O
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Prove sec? x = 1 + tan? x NAE AF x7} 1 Hs7] BAE AF xJS =935}e})
- S coshz
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11.5. OllHI
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11.5.3.
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10+11+12
3

E:
where X is the arithmetic mean.

(x H}_ 382 10 ¢ om 11 g3k 129} 7‘@ oqma X uw % WFolT})

A3 T WA e Y= 27 A4 P TdHe geme 1F AR /EEE Mol

X+y (x +y AA o}z »h

# (ZA %&+)

0.3 0.301 4 3990 H—<23F 22 0.33333)

i 7= HA FEEE Aok ok ™A god Hol A AAE 7HeRn.

0.56123 (3 22 0.56123123123 ..)
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PRINT "NameAAAATel. ANo."

2b. Y A 1§ mE WA
3. frolulg WIS TFPSHE EAL(F RE).
PRINT "NameTel. No."

4. AFE F7)A 32379 & AS wEo HA = ExlE(runoven(2g9 EE):

You can find the story at

http://www.ridbc.org.au/news/stories_children.asp

5. RIZE Aol A 9] Enw(2F RE):

The program is stored in directory
c:\program files\abc corporation\utility programs
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17.3. d=H HJI9 Xt H)| S=

Yhd o el TAHE AFE T2 wE oy T2aPe 1§ WA ZrlH o}
gk 1§ HAR #2718 ZR oA B YgdE ded ®rE S8 hEE 19
AAE AT Bme] Fo FAHA @ s|g TG Fi, Ui E, URL, Y
W, AFEH £ )2 Wl 29 FA2 £V

o

Now that you've seen the “Hello World!” application, you might be wondering how it

works. Here again is its code:

/**
* The HelloWorldApp class implements an application that
* simply prints "Hello World!" to standard output.
*/
class HelloWorldApp {
public static void main (String[] args) {
System.out.println ("Hello World!"); // Display
the string.
}

The call to function system.out.println, passing it the constant string "Hello
World!", does the essential work—but the other statements and comments also play a

role---
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